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https://zhiliao.h3c.com/questions/catesDis/576
https://zhiliao.h3c.com/User/other/241727

Can't assign the port to the aggregation group because its attribute configuration are different than th
e aggregate interface
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[H3C]interface range Ten-GigabitEthernet 1/1/5:1 to Ten-GigabitEthernet 1/1/5:4
[H3c-if-range]link
[H3c-if-range]link-a
[H3c-if-range]link-aggregation g
[H3c-if-range]link-aggregation g
[H3c-if-range]1ink-aggregation g?
A

% Unrecognized command found at ‘A' position.

[H3c-if-range]poer

[H3c-if-range]po

[H3c-if-range]port link ¢
[H3c-if-range]port link-a +
[H3C-if-range]port link-aggregation g

[H3C-if-rangelport link-aggregation group 1024
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n't assign the port to the aggregation group because its attribute configurations are different than the aggregate interface
n't assign the port to the aggregation group because its attribute configurations are different than the aggregate interface
n't assign the port to the aggregation group because its attribute configurations are different than the aggregate interface
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